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6. A 4.0 kg silver block is sliding down a frictionless inclined plane as shown below.

What is the block’s acceleration?

A, 25m/s

@m.m mfs®”

6.6 m/s’
1m/s’

7. A 1.2 kg lead ballis launched off a cliff top at 16 m/s as shown below.

v =16mfs _—— I.W
3 5

Determine the ball’s kinetic energy (E, ) at position P. {Ignore friction.)

A. 23]
B, 47]
1x10*J

. 13x10%J
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8. The force F shown below pulls a block of mass m from rest a distance d across a concrete floor.

The coefficient of sliding friction between the floor and the block is L.

d

increases decreases
decreases increases
increases increases
decreases decreases

9. The 5.0 kg block shown below is accelerated from rest across a wood floor (. =0.22) by a

40 N pulling force for 3.0 s.

‘What is the block’s final momentum?

32kg m/s

£B 88kgmis

C.
D.

120 kg m/s
150 kg m/s

Page 4
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What is the magnitude of th€net noBcn ue to the two children, about the seesaw pivotin the

position shown?

% 220 Nm ,
. 230Nm

16. An object moves in uniform circular motion in a vertical plane. Which is the direction of the
acceleration at P?

17. A 1600 kg car moves at a constant speed of 28 m/s around alevel 100 m radius circular track:
‘What is the minimum coefficient of friction between the tires and the road surface?

Gr M

Physics 12 ~ 0608 Form A Page 7

T3

cume (zzE)(MB) - (39u)(2 0w

Yo

If the cylinder rotates once every 5.4 s, what force deks the wall exert on a 58 wm :mQ
and bottom of the ride?

A. 140N 140N

@ 140N 1300N
[ 570N 710N
D. 710N TION

m

19. Matter is orbiting around a collapsed star of mass 3.6 x10% kg at an orbital BaEm of
8.5x10* m . What is the orbital period of this matter? 3

T- YT Y
&M,

A, 12x107s

B. ExSLm.‘ ﬂnm = ﬂﬁ.\

&) 10x10%s . .
D."1.0x10's Gar ML _ i{m “r
e

A ~
re T
20. A 4.5%10" kg vehicle is orbiting the earth with an orbital radius of 9.38x10° m and a speed of
6.52%10* m/s. What minimum energy is needed for this vehicle to reach a position/infinitely far

from the earth? —
‘@ 6x10" I N m v &W
B. 19x10%7J ,v
C. 29x10%] \ 4 ,/\n\r\\\\ m\ﬁ S0
D. 4.1x1077
3 S
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25. In the cathode ray tube shown, plates M and X are charged positively.

Position of
undeflected
beam

26. Which arrangement of four identical resistors has the highest equivalent resistance?

Physics 12 - 0608 Form A Page 11

it
-LF

27. A series circuit consists of a battery and three resistors arranged as shown in the

diagram below.

20Q

‘What is the potential difference V.7 —
=2tV
A, 30V

B. 60V wmnww - vfm<

=™ 9.0V
QNH/\

28. What is the battery’s terminal voltage in the circuit below?

28Q

Page 12
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34. A single loop of wire encloses an area of 3.5X 1072 m. Itis in a magnetic field that
changes from +0.72 T to —0.25 T ina ime of 0.060 5.

Initial Final
X
% A
X

L3
£
¢ L
@
L)
°

s

B=072T X X X X B=025T

¥ ¢ & & » e 0

‘What is the induced emf and the direction of current flow in the loop?

ot (-t ) (3™
06

ma‘fw ﬁvw X Qrﬁmﬁmﬂ
S e Q%mw@w €= ._\N/r
ﬁ\?rﬁb__@

A 27x107t v counter-clockwise

B, 27107 v clockwise

,O. 57x107 v counter-clockwise /\
) 57x107 v clockwise

35. An AC transformer converts 120 V into 3.0 V. A small electronic device draws 4.5% 107 A,
from this transformer. If the secondary has 50 turns, what is the number
of turns and current in the primary coil?

Q 20x10° LIx10% A
3
B. 2.0x10° | 18A
C. 40 Lix10# A 2 S~
D. 40 ) 18A

You have Examination Booklet Form A. In the box above #1 on your Answer Sheet, ensure
you filled in the bubble as follows.

B C D EF G H
Exam Booklet Form/
Cahier u.mxmam: O \,..u G1010] \U O

Vs, T
w . {40 s

This is the end of the multiple-choice section.
Answer the remaining questions directly in the Response Booklet.

Physlcs 12 — 0608 Form A Page 15
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